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1. Which of the following is 2 CPU scheduling -

algorithm 9 1
(3) Round Robin  (b) Paging
(¢) Throughput (d) SCAN
2. In time: sharing Opéraﬁng systems, when the
leted then

assigned time slot to a process is comp
the process switches from “state to ready

state, | 1
.(é) Waiting (b) Running |
©) New (d) Terminate
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3. CPU schedulmg in the’ ba31s of i

(a) Larger memory sized systems
() Multlprocessor systems
-(c) Multlprogrammmg 01

(@ segmentahon
. 4. After complétion of 763 operauon the process
" switches to _______ state. 1
(.a)vNeNW, - ) Ready ‘
() Running (d) Waiting

5. The deadlock avmdance algorithm dynamically

examines the . to ensure that a cu'cular
wait condmon never exists. 1

(2) Operating System

(b) Resources ,
- © SyStem Stbrage.:_state '

(d) Resource a‘llocation state

6. Which of the followmg is the extension of the

file created on “Notepad” 1
@ X (b) doox
@ (@) e
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7. Define multitasking. 2

8. What is dispétch latency ? ’ 2
9. What is operating system and what are its

- functions ? . 2
10. Define context switch. | 2
11. What does CPU scheduler do ? e 2

" Answer any six questions from Q 12 to Q 20:

5%x6=30

12. Apply FIFO and LRU page replacement algorithm
to the following reference string to find out the
number of page faults. occured for the above

algorithms while considering ‘4 page frames : y

70120304230321201701

13.. Consider the following set of processes, with their
. arrival time and' length of the CPU burst given

in miliseconds : | 5
Processes | Burst Time | Arrival Time
P, 6 0
P, 3 1
P, 4 .2
P, 2 3
P, 8 4
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14.

~ jumps that the disk arm moy,

15.

16.

17.
; 18.
19.
20.

H/G/ASEM-D CSIT 13

 The list of pending request is 82

A disk dive has 500 cylingers umbered
0 to 499, the head jg currently Serving gt 1::‘5n

1 » 120, 4
60, 250. Starting from the current head psc?s’it3igx(1)’

draw the graph and find out the

) €s to satj
pending requests for pcpg a::dsagsfy all the
scheduling algorithms, ' ST.

5

Explain deadlocks and ﬁe '
for deadlock to arise, | coSsary Conditjons

Describe when a System cap . '
safe state. ' be said be in
_ 5
Explain critical section Prob
requirements for its Solutjop_ M and the.
‘ 5
Write the safety and resq

€
in Banker’s algorithm. - 'U€St algorithm

‘ 5
Explain Fragmentation of memmy
1Y. 5
Explain any five file OPerationg |
. 5

100

total cylinder ‘

F disk -

5.
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 Answer any two from the fdnow;ng ;10220

, | v avoided. The
21. Write how deadlocks can be aﬁ:ce‘;ﬁon of
following is a smapshot of resource aX0GaOR 7/
a system in certain time : |

Pl‘bc;essesk Allocation  Max.  Available )
B ABC | ABC | ABC
P, 010 753 | 332
P, 200 322 |
P, 302 902
P, 211 222
P, 002 | 433

Where A, B, C are different nesourc: tpres F{ng |
the contents of the matrix “Need”. azﬁ;
whether the system is in a safe state or not &
applying Banker’s algorithm. Write e o
‘sequence. If a request from process P: arr1 o
“(1, 0, 2) numbers of more instances of A, I . C
respectively, then can the request be gran e

immediately . ?

22. How can deadlock be detected when there are

several instances of each resource type .and‘how
can the system be recovered from deadlock. o
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23. Explain segmentation and its basic method. 10
Answer any one from the following : 14>§1=14"
24. Describe paging and its basic method. 14

25. Describe demand paging and its basic concepts.
-~ - ' 14
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